."r _

2.

3.

4.

PART-A (GENERAL KNOWLEDGE

is NOT a Central Government tax. 1.
(A) Income Tax.
 Custom Duty
' Land Revenue
(D} Service Tax

Pranab Kumar Mukherjee, was declared
President of India on 22nd July 20°

(&) 10th (B ;g,u
(©) 12t \yﬁ
Who among the following players won Australian 3.
Open men’s Single Title, 20137
(A} Bob Bryan
Movak Djokovic
(C) Gisela Dulko
(D} Daniel Nestor

According to 2011 census, which is the second most 4.
populous state in India?

{A) Bihar

(B) West Bengal

V[Q-)" Maharashtra

5.

6.

The smallest functional upit of
(A} Meuron
M Nephron

9.

(D) Andhra Pradesh

The capillary action phenomenon of water climbing
a narrow tube dipped in water is due to:

g friction

= i
(C)} Atmospheric pressure
(D) Differential temperature @

™

{C) Air Sac
(D) Ovaries
Kwashi due to deficiency of which

() VitaminD
(D) lron

Vasco-de-gama was a native of: B.
(A} America
{B) Britain
ortugal
(D) Australia

Who is the Governor of Maharashtra at present: 9.

Kateekal Shankarnarayanan
(B) S.M. Krishna
(C) 5.C. Jamir
(D) Mone of the above

[C-3]

Prefian ¥ 8 o S0 G0 W B A6 &
(A) IH-TBL
(B) HT-F%
©) TTF
(D) FE-=7

(n) 10% (8) 1%
(C) 128 (D) 139

Preafafan 4 @ e e A =5 5

usE 2013 SHen?
(A) ¥ FET

(B) AAAFE AEES
(C) =iesr

(D) =

2011 & 3 HgET WS W g0 TEins SaeA
gl T

(&) RErE

{=}]

(

UF GH0 A6 3 O @ S 9eq-d T B
e Hefy =1 B &
(M) g=E T '
(B) U@ T
(C) TFEg =8
(D) FTHa T

73 P w44 a9 Peers o ~
(8) =

(B) A%H

(C) a1 9

(D) HAvZEA

s T Fea Ot o B 41 & B &

(A) &

(B) M

(C) Fafw &

(D) @ 79

FrEife T BEl F AR
(A) FRAE —

(B) B

(C)

¢ e

Fham # wErE 3 TR $E O S
(A) FTERE TR

(B) TH.GH. F°

(C) TH.H. ST

(D) 37rs § i T
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10. The third battle of Panipat was fought between:

& (A} Akbarand Shershah
Marathas and Ahmad Shah Abdali
(G} Humaun and Hemu
(D) None of these

10.

_11. Who is the leader of the House in fifteenth Lok-Sabha? 11.
* {A) Meira Kumar
(B) Sonia Gandhi
= Sushil Kumar Shinde
(D) MNone of these
12. Layer of the atmosphere which is closest to the Earth: 12
(A} Mesosphere
x roposphere
{C) Stratosphere
(D} lonosphera
13. The maximum strength of Lok Sabha as envisaged by 13.
the constitution is:
(A} 530
1) 552
(C) 555
(B} 550
44. Deepika Kumari is a name associated with which game;
Wrestling
rchery
(C) Boxing
(D) Weightlifing
15. Acid Rain destroys vegetation becau c i 15.
{A) Ozone
Sulphuric Acid
d (C) Mitric Acid
(D} Carbon Monoxide ‘
16. Consider the Lopdo ;5 held recently. Identify 16.
er in Wrestiing
er in Shooting
wal — Bronze in Badminion
(D) Ga arang - Bronze in Shooting
17. Which country has launched Solar-B satellite to study 17
the sun:
(A) India (B} China
Wpan (D) Germany
18. Santhali language is chiefly spoken by more than six 18,
million people in India. Apart from the states of Bihar &
Jharkhand, it is also spoken in the state of:
1'Mssam. Orrisa, West Bengal & Tripura
(B) Uttar Pradesh & Rajasthan
(C) Haryana, Jammu and Kashmir
(D) Himachal & Jammu and Kashmir
[C-4]

THIvE # AT ge Reue 5e @Rl T
(A) 5T O SETE

(B) T9E1 T8 S=9E WE =l

(C) & @ 4

(D} ¥ & FE W=

gzEd Se-g9 § 855 & A B A
(&) BT FAR

(B) #iFEr wE

(D) T8 & 3

e OO St gt § wEE S 2

(B) =Hrgumas

(C) TTTEE

e = EE & #iE & aigees den
7 87

(B) 552

(C)

(C) g T e
(A) TEHTER @
(D) AFETETEH
(&) 530
50

F AW 56 @9 § TEa o
(B) e
(C) T AT — .
(D) =R

o a9t aaadl B T ST ¢ i g B
(A) i

(B) TEEE o

(C) RS o=

(D) FEE-IE-AEEET

B E O AR e Aaeeas & e B Ted A
F gEE:

(&) TET a9 - FrW A T

(B) Bl FAw - T =a

(C) AT wEa - TH =

(D) T AT - qfen §

F-8 39 T HwT-8 9vmE oF 3 weEE B 3 R s
& :

(A) B (B) 9™
(C) =T (D) ST

da w W § 8 W a6 ge: Sl el &
R w9 wwEs & o 9 R e o S &
(A) aE, g, T 9w BEa

(B) T W TEEE

(C) =Ramm od g U FER

(D) fBEiEw od 5 o T
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19. The Higgs-boson particle which was recently 19.

discovered by scientists, is also known as
(A) Quantum Particle

{C) Atomic Particle

(D) High mass particle

20. Recently, over 140 countries have agreed on the first 20.

international treaty called Minamata Convention. It
aims to reduce the emission and release of which
element into air, water

{A} Lead

(B} &

(D} Cadmmm

21. What is
commodity?

“Support Price” for an

{A) Subsidy paid by the government over the prices
already available in the market
{B) The floor price below which it cannot be sold
M&f The minimum price at which the government is
prepared to buy it
{D) Money paid to agriculturists in the case of draught

22. Which one of the following items comes under
Concurrent List of the Indian Constitution?
(&) Inter-State nvers
j=.T1‘H.dE Unions
s e o
(D) Local Government

23. The authority to alter the boundari€S(of

rests with: @

(&) State Government
(B} President
Prime Minister

(c
i ) Parliament

(C) Parsis
(D) Buddhists

25 Electoral disputes arising out of Presidential and Vice- 25:

Presidential elections are settled by:

(%) Central Election Tribunal
(B} Joint Committee of Parliament
(C) Election Commission of India

V,(-B‘i Supreme Court of India

[C-3]

agricultural 21.

nate two members of the Lok 24,

Yo &R B & 8 e T - o @ T
& 0 wFn S

(A) FaFEH B

(B) s =

(C) Fmias F

(D) 358 =9 B

a1 140 29 B o9EE AH 3 TR s
Hﬂ%ﬂ%%ﬁmﬁ@lmaﬂmla@mmffﬁm

iy aeganl & R wEEa @
(8) AT TEE § 0w o7 I HaiEE &
A

(B) & S 4 9T 3F T A= o TEn
(C) =g =T IR miEd & e oA w
&
(D) % w7 & fre B T A
&l T
% ool gE § S U6 A a8
Sice .

e 7 T @ dmEl @ wheen 0 @ ahEn e
o #: -
(A) T FHA

(B) AR

(C) mREE

(D) HE=

wﬁ%wﬁ%mmmﬁm%m
Fr HieT BT O 6

(4 ST T

(B) WA T

(C)

(D) &=

ety w gu-Tesi goE 7 g wem Reel w7 R
frma 2 Fean o #:

(&) ST g9 T

(B) HE% F HyH wh

(C) ST I AE

(D) WG FI A Tl

o & e B B S5 &7
(A A

(B) T

(Cy 9 .

(D) F=Hmm S
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i ‘-:___ 'L-l — e ‘l 1 - 3* > £
Pl »t ot M4 E o 2 C
SRl A T \ 1 i ‘
S TR =
3 0 PART-B (MATHEMATICS) Hfeo %
0y - s '
26. Thevaiuauf1-.[1+1+{11+1,+{1_+1-|-2}}] is: . 26 1:f1etafiito1a1:2))] T A 2
— = % & \ 4--;
(A) 1 o tf) - " W}% (A) 1 (B) - e 5
3
(C) % (D) None of these () % (O} ¥ & Fg T t+3 .3
4

27. In a cricket game Dhoni is out for 52 runs which raises 27. Bde & ©F @9 7 S 52 T 1% T 8 EiGE R o
his average from 36 to 37. How many runs would he AT 36 | qTHT 37 & AW B 3w O ¥ o B = 26+
have to score in that innings (in which he scored 52) to T B (Pt o 52 ¥ o) O o ofted seRt 5
raise his average to 39: 39 # = SE
(A 100 (B) 82 (A) 100 s
(C) 72 LA e (C) 72

28. How many kilograms of sugar costing ¥ 9 per kg must  28. I 9 ¥Ry FeREm aET TR @ T 7 W
be mixed with 27 kg of sugar cesting % 7 per kg so that FseitmT PR At 27 5 Rigor &
there may be a gain of 10% by selling the mixture at ¥ ¥ 9.24 3Ry R5SEm ¥9 @ 109 wor
9.24 per kg: - - . S - :

(A) 63kg (B) 55 kg (D) =5 & 5 78 =
(C) 68 kg (D) None of these =

25. Anil can do a work in 10 days and Babu in B days. Anil 29, P W O g e A
and Babu can do the work on alternate days. If Anil g = & ¢ 30 ¥ 3R afg
begins the work, then the work can be finished in how Frd =t R Bl o R s w &
many days: (B) 8 B= A
(4) 7 days (B) 8 days (D) 12 7 np

9 days (D) 12 days .
= W iy rrppeecaliy 2 s : -

30. If 3 men or 4 women can construct 2 wall in 43 days 3TN A 4O WAR A B RATFREAN T
then in how many days 7 men and 5 will 959 o 5 AReel 2 o S & a9 B By e
construct it? (A) 15 =
(A) 15 days (B) 12 =

2 days (C) 13 B
(C} 13 days (D} 16 &
(D} 16 days

31. A man purchases an i 3. T =i 0 WE H e e 5w 3 45 W oadear &
and sold it at 12% m W S w9 3 12% = W a9 3w 3 swma
will be: AT g
fA) 20% : ceP= C (A) 20% (B) 30%

{C) 4 (D) 50% (C) 40% (D} 50% =

32. Aninsect fli the corner A to comerBofacubic 32. T% Fi31 & 19 41 @ Bt A @ B9t B & @75 4
room in 4 ¥&conds where A & B are diagonally #avs § 3z 1 W A ©F B Ry w9 3 Rude B
opposite corners. The side of the room is 4 m. The aFmAgma4ad i R At
speed of the insect is: (A) 2 misec 9 |
(A) N2 misec (B) 2V2 misec SME e
(B) 2v2 mizec (C} 3 mfsec 3‘4{: x
(C) V3 m/sec L (D) 243 misec
(D} 243 m/sec T -

33. A horse and a dog were sold for Rs 12,000/- each. The 33. U% 9131 @ T% %1 6% 12,000 59¢ § 32 73 92 =

horse was sold at a loss of 20% and the dog at a gain
of 20%. The entire transaction resulted in:

20% W 9T 491 T OO 9 B 20% @W 97 39T W
ﬂwgnfﬂ%%nﬁvmmgm S'? “ tl?.

w::lussu‘fgain s Wﬁimﬁﬁﬂ'{ﬁiﬂﬁﬁ o
\$%8) Loss of Rs 1000 R C ol ) oo (B) 1000 57q % a1y 9N o
(C) Gain of Rs 1000 & (C) 1000 9T F w9 T \M \
@ﬁ:j" Gain of Rs 2000 \M 1 (D) 2000 &9C & &9 : ;;-9__7 "Kf)("f'q _\g.lv'lf"’;;)‘
= e e %0 o S

\& E



34, A sum of money invested at compound intere:
amounts in 3 years to Rs 800 and in 4 years toRs
What is the percentage rate of interest?

3 "
(#) 10,000 ggarls !
~ (B) 12,000 "173-’
15,000 €0
(D) 16,000

40. The average age of 33 boys and the class teacher
class is 14 years. If the class teacher’s age is 47 years.
What would the average age of only the 'l;mrs?

'\M'B years

(B) 12 years 23 + W Llil 4 O
= (C} 14 years —_—
qy " (O 15yeas 3y
i U ..-—'—'_-M-
R

D) 5% B) 4%
{C) 3% (D) 10%
35. Find the area of a triangle whose bqum long 35.
and corresponding height is 10.8 em.t e
(A) 153 e’ el
) 135cm’ e
- {Cy 531 cm’ =g ok
(D) None of these
36. The base of an isosceles triangle measures 24 cm and 36.
its area is 192 cm . Find its perimeter:
64 cm s \ﬁ, '3‘; 'Y
(B) 20cm ) 9o 208
(C) 24 cm =l
(D) 16 cm - B
37. A watch was sold at a profit of 15%. If its cost had 37.
pesn 5% less and it had been sold for ¥ 21 less, then
the profit would have been 10%. Find the cost price of
o the watch: -~
| 2» (A) 200 S~ X ¢
. ®) T 400/- eiPe AN
AN {C) T 190/
ﬁ,-._,}'-"s (D) None of these
ﬂ“mmd 100 pieces of an article @ T48
_~  piece. He then listed the price so as to A >
Z5%. While selling the articles he offered &0
5% What is the percentage of prof he
s m
e 18.75*
(C) 19.50
) 15.00
39. Priya deposited of a sum of T 25000 in 39.

ina 40.

[c-7]

s o7 PRy @ 7 5 W9 3 99 A 800 W AT\

ﬂﬂﬁmﬁaﬁr%mﬂmﬁwt: 35”‘{.”&;3
(A) 5% (B) 4% - L
(C) 3% (D) 10%

Prer %1 850 WO B{ [Rrw ST 25 . 1 & @
qreT S 10.8 AL &

(%) 153 &L B .
(B) 135 ¥ e B M
() 531 &2 Qe ek ¢
(D) T § =k 8 o tr
b

ﬂﬂfﬁﬂlﬁﬁgﬁnmm#ﬁ.ﬁaﬂt 192 . -_1.,
T2 b @ e RN W B , (Y
(A) B4 T e
(B) 20 T ool o
(C) 24 T et 4

ﬁﬂfﬂﬂﬂﬁﬁ{{
T aaes B s 98 25% W

dig I T G F 100 i 7T F =l
5% WE o6 g W
mﬁﬁxwﬂﬁa&ﬂmmﬁﬂaﬁ{{mﬁ
A2 F feaa wiowa B A gAY

(A} 20.00

(B) 18.75 A€o Ya< 19
{C) 19.50 T
(D) 15.00 4

.j.ﬁ-;g:

fmﬁnm%ﬁfs@rﬁﬁﬁhﬁmﬁ%m
qzua%ssﬁ:a'éﬂrﬂ%amaﬂmrﬁﬁiaﬂ:mm
Fa = 3 & T B 15% s B =T 9 I ST

Sy t g ® ‘Q’H\F\%
(A} 10,000 & B i
(8) 12.000 e i
(C) 15,000 QSE?_
L
(D) 16.000 ﬂ
ﬂ:uﬁfqﬁ@m%ﬁiﬁﬂmmuﬂmnﬁ:
ﬁmﬂmﬁnﬁ%nﬁr%ﬁ@aﬁaﬁmmwﬁ
(&) 13 T :
(8) 12 T
() 14 ugo 13
o) 15 =4 T
1 U?E_"'u'}-
il i, BRHH-0T
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&
41. Thevalue of [ 953,953 - 953 2047 +.047 « .U#TJ is?

.953%.953 % 953 + 047 = 047 » 047

87 (B) 1.5 -
(C) 1.00 @B-1Gne of these (B . 4%)
42. The greatest number that will divide TE'.:. 233 and 279 42
leaving the same remainder in each case;js—
Mﬁ (B) 36
(C) 45 {D) 54
43. If the difference between simple amd compound 43.

interest on some principal amount at 20% per annum
for three years is T 48 then the prin:ipql_ amount is:

(A) T 550 (B) T 475
(C) T375 (D) MNone of these
44. The speed of a car is 60 km/h. The time taken to cover 44.
a distance of 300 km in hours is: 7
(A) 4 - 5 S T
(©) 6 (D) 8 =
45. The distance between two cities A and B is 520 km. 45.
One car starts from city A towards city B with the
speed of 60 km/h. At the s3me time, another car starts
from city B towards city A with a speed of 70 km/h.
After how many hours they will cross each other?
(A} 3hours hours s
(C) Shours - ! - ——A
2 - =
_— . —
196 Ifthe selfing price is doubled; the profit triples. Find 4
the profit percent.
i 300% Fruc Yalltin &
(B) 50% =
(C) 200%
_(D}1TGne of these ( |65 * ) P
= _____tg,"h‘-'
47. The lengths of the sides o are [n 47,
the ratio 3:3:5. The Ig equal sides of the
_ is 6.6 cm ﬂftl':_u_il"nngfe?
\\yﬁ; cm :%\m
{C) 235 W
48. P sells Q profit of 1 0%and QsellsittoR 48.
at a profit of 1295, If R pays T 246.40 for it, then how
much had forit?
_~AT200 (B) 300
(C) 248 (D) 346
49, If 0.06% of a numberis 84, then 30% of that number is: 49,
{A). 25 {B) 420
w’:ﬁzm (D) 2520

S0. The volume of a cylindrical tank is 1 2320 litres and its 50,
radius and height are in the ratio of 7:10 respectively.
What is the height of the tank?

{A) 1.4 metras %;etres

(C) 2 metres (D) Mone of these

§*

L
= \
2953 %953 053 % 047 + 04T = _D4T
[?53:;_953 *.953 + 047 .mn,ﬂﬁ]ﬁ et ?i
(A) .87 {B) 15 4,{{
(C) 1.00 (D) 71 | #E 78 l‘;’f
a8 = TEm @ 187, 233 @ 279 @ Ruhw = LG 5
SeaE AR ey ad) e
(A} 48 (B} 36 ll"x:}'"" |
(C) 49 (D) 54 :&‘5‘
o W O s ¥ Rl o o 20% SR 9 g@\h'{
TH @ A T 248 B A qw o R drm ""1;
(A) T 550 (B) 2475 al-
(C) T 375 (D)} =% & -7
_———
% B H A 60 [Emicad St Y
i ™ = § @ weg 6 v
(8) %D:
(O} 8

S T 520 Redpller b o Wc ]
T MR T B & i
. FLMTB A 8T A B AT

ARG B TGl T s s

A T S =

(B) 4 5 —_—

o) se Saa ue, {

R 70 Bt A 7R ¥ @ o o o ﬁ:
@ i ST G- _1 r
(A) 300% 183 232 ._%1 !
(B) 50% "%T 14 -
(C) 200% b ya
(D) &5 & =5 7 =
43 114

T A B B gl @ omum 3:3:5 o fﬁq

gonell i T 6.6 &0, ¥ 1 78 B @ oRmw drm - s
11[1 |
(A) 24.2 T4 (B) 25.0 4. o
(C) 23.5 &7, (D) 24.0 &. "1'
ey
P UH AT QH 0% TN W A R QR R Y.
12% W9 9T 39w & IR ‘R’ T 240.48 :_".,:

Q%wm{ﬂm
PRI R R S o R A | T u

=, '3 —_—
(A} 200 {B) 300 S S L

(C) 248 © 346 5% ‘f‘.“”}a |
qc

o U HEA B 0.06%, 84 ¥ W I T W 30% R A2 s
(A) 25.2 (B) 420 44 '1;{3} 3;'.-_-? ]
(C) 42000 (D) 2520 “i3 Eé‘_ }
S i
ATER € W A 12320 deX ¥ w gee Beard = |
SR B O B 70 B O e o S Rl 2 1%.

(A) 1.4 dreT (B) 2.8 Hizx "
(C) 2 e (D) ¥ & 2 e qﬁﬁ
- @ = P A

7 3

T A ‘:H‘]:'E;_T‘pi BRHH-OT



PART-C GLISH
DIRECTIONS: (Question No. 51 to 53) In each of the following guestions a word in CAPITALS is followed by four choices, Select
from the choices that word whose meaning is opposite of the word in capitals.

51. ETERNAL:
{A) Momentary e (B) Everlasting

(C) Continual : Wndless

52. BARBARIAN:

(A} Heroic wm?::iiised

(C) Nationalist (D) Foreigner
53. ADULTERATED:
“{A) Immature (8) Solid
(C) Virtuous .‘_ﬁ?ure
DIRECTIONS: {Question No. 54 to 56) In each of the following questions a word in CAPITALS is foll 5. Select
the word that has the same meaning as the word in capitals. o) ye ,

Adequate (B) Inadequate W,
¥ (C) Complete (D} Balance & :;_ S 'ff ’
&% 'm DEDICATED: i~ e(l T |
Ty WD';::ted _ (B)
W3 (C) Sincere % guo (ﬁ T:E‘)
: z 56. REPERCUSSION % —

R .
{

A - - AL = =
s (A) Resistance on 5
{C) Opposite 2%
. : =
DIRECTIONS: (Question No. 57 & 58) In the followi ons select the appropriate word that best represents the given set of
words. 2
57. The writing that cannot be read: : i }F?Tud.
-(A) Nonlegible #AB) Unlegible 916
: ibl
: (C) llegal w Hlegible o E:-
! 58. A person whose thou inwards: = -"]_._ CaiET
i (A) Extrovert Invertebrate L o
|‘ (C) Intelli ntrovert |- 2= T
| N —3s
DIRECTIONS! ~59 to 61) Find out the correctly spelt word. i A i
59. "-L,;; = =,
(A) Annivarsary \\Mi‘mrsary : {C) Anneversary (D}  annivarsery L
e g
'{\_,cmtﬂiﬂm}& (B) Maintinance {C) Maintenence (D) Mantenance
- &1. -
(A) Guardion Em’éﬁ:rﬁm (C) Guardien (D) Guardain

o

it 62. Superlative of Good and opposite of worst is:
> N Best (B) Better

(C) Bad (D) Worse
a 63. How many adverbs have been used in the following sentences: o
| >ﬂ \ Sita sings well_ She speaks very fluently. _ e
o me et
<) 4 : y'y None of these
i<y L b <2

vy [c-9] mE

e




64. Identify adverb among the underlined words:

(A} A lonely boy (B) FEriendly neighbours
(C) An early riser a4 To rise early
65. Identify plural word among the following alternatives: |
(A) Syllabus .~ (B) Curriculum
Qenda', ' (DY Radius
66. In the following question, four options have been given. Identify the option which has correct usage of preposition:
(A) | prefer milk than tea «(B) He needs a pen to write with
(C) Heisill from fever 487 Fie ordered for two cups of tea

7. Fill in the gap with suitable preposition:
Sita is indifferent her health.
To (B) Of
(C) From & (D) By
68. Manish said that he was busy then.
The correct direct speech of the above reported speach is:

) Manish said, “l am busy now” ' {B) Manish said, “He
{C) Manish said, “He were busy now” (D) Manish

busy then

69. Correct reported speech of the following direct speech is:
He said to me, “where are you going?”

(A) He asked me where | was going
(C) He said to me where | am going

B) Het
5
70. Identify the complex sentence among the followi
(A) The mother tiger saw her cubs. '
happy

(8) mother tiger saw her bubs and she became
When the mother tiger saw her cubs, she became h

(D Both (B) & (C) above

Everybody voted him, They beli
{A) Everybody voted hig be

(B Everybody voled hi
(C) Everybody voted b

tie is an honestman.
ming to be an honest man
ing o be an honest man,

72 2 PO ige among the following sentences:

(B} My uncie looks after me
&0 been cheated by me. (D) Ram did not speak the truth.

By th of this year he will have saved a lot of money. |
{4) Future continuous tense Future perfect tense
(C) Future perfect continuous tense (D) Simple future fense
74. Teais too hot to Drink.
The correct transformation of above sentence is: :
Tea is so hot that one can not drink it. (B) Teais very hotand can not be drunk.
(C) Teais so hot when you drink it. (D) Teais very hot if you drink it. '
75.  Fill in the blank using correct article.
Kalidas is Shakespeare of India. |
(A} A (B) An
M (D) Any one of the abowe can be used
[C-10] BRHH-0T
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PART-D (REASONING AND ANALYTICAL ABILITY)

DIRECTIONS: (Question No. 76 & 77) There were six persons U,
V, W, X, Y, Z playing a game of cards. U's father, mother and
uncle were i the group. There were two ladies in the group "V
the mother of ‘U’ got mare points than her husband. X' got more
points than " but less than 'Z'. Niece of " got lowestipaints.
Father of '’ got more points than 'Z’ but could not win the game.

76. Who won the game & who got the lowesi points

\...; “vay :

(Cy W&EY

(8) Uonly
D) X&V

77. Who is the husband of V' and what was his position in
the game on the basis of points:
(AY Z, g
(B) Y, g

(C) X, Una
M llng

DIRECTIONS: {Question Nos. 78 & 79) From among the five
docters 1, 2, 3, 4 and 5, four engineers &G, H, K/ L and six
teachers M, N, O, P, { and R, some leams are {0 be selected.
Ofthese 1, 2, G. H, O, P, G are females and the rest are males.
The formation of teams is subject to the following conditions.

Wherever there is a male docior, fhere will not be a female teacher .

Wherever there is 2 male engmeer, there will not be a female
ductor. There shall not be more than two male teachers in any

78. If the team oonﬁ hﬁ ‘doctors,
teachers and two engineers, then al

teams are possible except:
1,2, K L P
{C} 1,26/ H B Q

79. [If the team consists of
andtwoenginee

w334¥
{0y 4,5 G H

(One)?

(wo)? _ 9. _(onef®
(Hundred)®

Five?. 16" (Seven? 25

_isf 08

80. If

16
R o (B

Gl ' ; L

© & — 35

B1. A is taller than B, but shoﬁer than C. D is taler than A,
but shorter than C and E is taller than B, but shorter
than A. The tallest person is™

s ALC>a78
(©) A C?b5“
E7R"

[C—11]

Fw: (w7 der 76w 77) B &R U VWX Y, Z O @9 H
h&aﬁﬂ]g’:ﬂu%ﬁqu&aﬁ%g%mﬂ
WS U SO E e e O # S % WEYH
I 7' F 5 HE e Y S e B o9 W ST e
U % T 5 Z 3 oTYs oiF B 8 38 99 9 T8 @
76. TN FAY: B ST 09 GO 999 39 6 B

(A) V@ U

{B) U =

C) W Y

(D) X = v

77. V' W U # & U5 @ ® e 01
T 9T B

(A Z g
{B) ¥, Ny
{C) X, g

(D) W, llag
fEar: (ve @@ 78 O 21927 1,2,3, 4, © 5,
TE FeET G, MNOP QERAN

#ig F7 T99 fa S 1,26 HOP QTR ¥

_ﬂifﬂﬁﬁﬁ'ﬁl%l
A & it e A9 B e f B g
g Sy T A B S dEn g 2 4 =
g5 w4 2
78. IR n F & e, 9 oiew inm @ & SR E @
i ot 3w g9 & R

(A) 1,2 K.L.P.Q
(8) 1,2,G.H,P.Q
() 1,2.G,H,0,Q
(D) O,P,G.H,1,2

e, o A F @ wre, & AR R w @ SR E @

(&) 2,4,0,P,0Q,G,H

(8) 1,2,0,P,Q,G,H"

(C) 3,4,K,L.O,P.Q

(D) 4,5 G.H.0.P,Q

: )
80, T [Two) 9 {S:x] a9 & {One! =

(Five> 16 (Seven? 25 (Hundred)?
25 16

D= ® 5
] 9

() E (D) S

B1. *A”E’ﬁw%%ﬁﬁc%ﬁmtl DA’# s AR C
A BT & T E B %waﬁﬁﬂ‘n’ﬁ%‘mtlmﬁm
e 2 Cy

Pi"'
(™) E 2,
_® D &
©) A
D) C

BRHH-OT



B =
" L

s 3 uff) prgaww

M: BRT

82. Arun is fifth from the left end and Navin is twalfth from B82. = # 0% FTaw T awEo

the right end in a row are children. If Navin shifts by
three places towards Arun he becomes tenth from the
left end. How many children are there in the row?
(&) 21
®)

4
(D} Mone of these

83. How many squares can be formed by joining the
center of the circles by horizontal and vertical lines:

S
=18) 8

(D) Mone of these

84. Choose the correct number at the sign of interrogation?

2 K16 ] 2 1 B
X X
12 19 ? b 5 12 10
Wer BT (B) 8

(D) 3
B5. Fﬂlmﬂmmtnumberatt_[{b_esigani terrogatio

c 7

\/
w0

(C) 88

DIRECTIONS: The wi

form. Select th {
best.
BE.

T Taa
® 11S51Ttay
(o) B SR R
e | . VT

DIRECTIONS: Two words are given in the following question
with a blank in between. Select a word from the choices given
which is most relevant to the two other words.

-
87. NICE ( ) PENALTY:

good
(B) fine
{C) clean
(D) time

Iz

=

83.

T q ‘U_ ‘3_!- .’I.F-L.i; ] £ . W |
P W gqed ) Reys
7 e 2 Rr, w N
4 BT & g me o ¥

s o
T 2 BR | aed e W Y AR wdi arevr & st
7 W R Ao & @ 9 9 6 @ nw & WA
X e aey #7

-
Ar 21 = 5
(B) 22 iy
{C) 24 g
(D) = & 3 78

I3 I A W Rgell B AR od weaa Yent aw
et g gw Bos @ @ = § :

) 6
(C) 10 ) 8 & T !
wEas B T e 7 ;

23 a 2 1 g [
X I|
12 2 5 12 10 :

(A) 70
(C) 56

h%m:mﬁﬁfﬁ%ﬂﬁlmwhaﬁﬁwzﬁfgﬁﬁ
9 & vem w1 ode oo e A

886.

Fre: Feidiee 59 9 @ #= & o9 3

55345511:

(A TTlTTaa
B TTolltav
C) «d ol Flt
D) Avsilvyt

= B o

T
el 5 8 59 7= @1 91 R U @ 9= & ot wehw

2h

87.

NICE (___ ) PENTLTY:

(A) good
(B) fine
(C) clean
(D) time




DIRECTIONS: (Que. No. 88 & 88) Read the following o3 (W97 H&m 88 wd 89) 4R &1 # ey &1 wied ol o7 W

AT 99 % Fue S

information given below and answer the questions that follow

A * B means A and B are the same age. -
A — B means B is younger than A
A + B means A is younger than B
Saaiihe e
88. Sachin* iliap_jm = Rahul means
W;hul is the youngest
(B) Rahulis the oidest
(€} Rahim is younger than Rahul
{D) None of these
L%
83. X+Y+Zis the same
@ Y%7
{G) & XY

88.

L ey

=

as S,

T 2 x

(D) None of these

90. Look carefully for the pattern given below, and choose 90.

wl;ljch pair of numbers comes next.

5"yl -
911 31:’{_}5?;!}‘[?,1:‘[..
1933

{B) 3319
(C) 1533
3) 1921

o1. ® BUIDING' is coded as ‘CVUMEJOH and
INSTITUTE' is coded as JOTUJUVUF, what will be the

W
- ‘LUCKNOW" and ‘PATNA’ ™
\so#T MVDLOPXand QBUOB a4 iy &

(B) MUDLOPY and QBUOB

(C) MVDPLOX and QALIOB
(D) MVDLOPY and QBUOB

e

A*BH T 2 A JX B 8§99 39 & &
A-BH I EBAT B A
A+Bm &d ¥ ABE BRI

GEER G

(A) TEw wEH S &
®) ®

(B) TET HIH T &
(C) M, We ¥ B B
Fe v e

(D) I | § B 9 56

X+Y+Z 99 &

(A) YXZ
(C) Z-X-Y

2 B3 W = e

91133131
(A) 1933
(B) 3319
{Cy 153
G' = FE ‘CVJMEJOH’ 3= ‘INSTITUTE’
TUJUVUF® &, & F=ieim = s 31 am?

‘DUCKNOW' T7ar ‘PATNA’

) MVDLOPX 7 QBUOB
{B) MUDLOPRY @=m QBUOB
(C) MVDPLOX T QAUOB
(D) MVDLOPY &7 QBUOB

S

INSTRUCTIONS: (Questions Nos. S

SRR I B S gES 3 West e T g, S B A e o mmmaﬁ
4274 %t Raw & et B % A9 4 SRl w2 g A 9t s 5 il oo 82
5 g W 28 $u REm A2 3 HEeEn € des & % e
W ST Answer figure (T R
D El = =
i e ]| 100 If
A e
93. Duestianﬁgumfﬂilm
= [ = .
T
sciice W s (B) (C) {D}- 5
BRHH-G7



94. Find th&_ ?dd ane out
{A) OPTSRQ
(B} JKONML.
(C} _EFJIHG
UVYZXW

95. If M+N means M is brother of N, M/N means M is father
of N and MxN meanas M is sister of N. Which of the
following means A is uncle of B?

(A) A/CxB
(B} CxBIlA

(C) A+DJE/B
(D) A+GI/HxB

86. My house is to the south of the ‘State Bank® and the
“Central School” is to the east of my house which is as
far away from the ‘State Bank' as from the ‘Central
School'. | first go to the ‘State Bank’ and then start
walking to the ‘Central School’. Just when | am half-way
through | meet my cousin and then we decide to walk
back house. In which direction are we walking now?

(A} South-East
M-Wﬁﬁt
(C) North-East
(D) North-West

DIRECTIONS: Select the suitable aliernatives to complibie

97. 1.—1—.-1—.—1~, fie:
81 54" 35" 24—
L .
i ® =n &
(A} = {B)
i) f
98. If Illl stands for 3, ||@ 7 and | for 0, solve the
following. ~lwo F2ZR -]
ollowing 3-1%o +

=1 x Jo+ e

~1
3 a=1
(A}l @Aﬁ 3
©) v 3
89. Her® are fbur groups of letters, three of them are alike
ins

ay or other while one is different. Identify the
one which is different from others.

I
(A) cco : 999 kkk

(B} kkk'ooo sss
ol

™
1 mmm qgg tf
%m“ﬁ&& :
100. In the following Question pick the choice that
establishes the logical relationship:
A?EI_':E_!E::!Z;E:? D&
~F7) DG
~  (B) EC
C) FG
(D) GD

e

[C-14]

94 W uar e

(4) OPTSRO
(B) JKONML
(C) EFJIHG
(D) UvYZxw
9. SPIC NN W M B N, MIN R M R R N 3
ﬁmeNmﬁmthﬂ?Mﬂ#ﬁmmw%
B # g9 A #? .
(A) A/CxE
(B) CxB/A
C) A+DJE/B
(D) A+G/HxB
A R WS
8 33 ¢ P ‘Bg
Rot B = 3 R
TET W
B ¥ oo
AT 31 g

1
® 1

(C) ¥4 & 3 7

98. mlﬂr%'ﬁ:,m%&qz,ﬂ%ﬁrm,mn%%qn
¢ af PR = == =T

WE—1x I+l —H=2

(AY 1
()

99. qﬁmﬂﬁ%mmtmmﬁﬂqﬁﬁlmﬁm
tmﬂﬁﬁﬂﬂnﬁamﬁﬁiaﬁ?ﬂmﬁﬁmh

(A) cce ggg kick
(B} kkk ooo sss
(C) mmm gggq it
(D) ttaoo bbb

) mi
@) v

100. F=iufe w1 ¥ o8 Rew & 93 ot e @ i
Ul &
AD:BE::CF:?
(A) DG
(B) EC
(C) FG
(D) GD

BRHH-OT



